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Given

¥; = 1100 km/h
vg=0km/h
At=0.14 s

m = 60 kg
Solution

Find the average force on the passenger.

From Newton’s 2nd law,
SF =mad

During the collision the car as well as the passenger are decelerating. From the change in velocity and
the change in time, the average acceleration can be calculated. First convert the velocity into m/s.

100 k 1 1h
vy — 00 m(OOOm)( >:30.6m/3

h 1 km 3600 s

Although it is not necessary to use vector notation on this problem, I will use it so you can get used to it.
Average acceleration is then,
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The force provided by the seatbelt is that which provides the deceleration to the 60 kg passenger.

F;:m(_j:m(—tﬁ}) 30.60 m/s
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= —(60 kg)

The force is 13.1 kN in a direction opposite of the initial velocity.
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